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1.1 Fractions and Decimals 

By definition, fractions are numerical quantities that are not whole numbers. Different from 

whole numbers such as 1, 2, 3 and many more, fractions are usually represented as following: 

𝐹𝑟𝑎𝑐𝑡𝑖𝑜𝑛 =  
𝑎

𝑏
 

In the above, a is called the numerator, and b is the denominator. The numerator represents the 

amount that is needed out of a whole (which is b), i.e. ¼ represents 1 portion out of 4 equal parts 

which make up a whole.  Some of the properties that govern whole numbers also govern 

fractions, though some changes and additional properties may apply.  

Fractions make is easier to calculate problems that include ratios, percentages, and rates. The 

unique nature of them is that they present a clear picture of what is being represented without 

having to do tedious work in calculations. Some examples have been looked at in the section of 

whole numbers and integers hence a deep dive into fractions will further make it easier to 

calculate these. Other applications are for when numbers with remainders are needed. 

 Decimals stem from fractions, when the denominator is a power of ten. This forms a decimal 

point and units that follow from that. An example of a decimal is the following:  

𝐷𝑒𝑐𝑖𝑚𝑎𝑙 =  2.567 

In the above number, the (.) is called the decimal point and the numbers to the right of it are all 

fractions with denominators in increasing powers of 10. 5 is a fraction of 5/10; 6 is 6/100 and 7 is 

7/1000. During addition and subtraction, the same principles that applied to whole numbers also 

apply to decimals. Some additional properties will apply when dealing with the arithmetic of 

fractions and decimals, and like fractions, their applications in many problems make them ideal 

to use. 

1.2 Properties of Fractions and Decimals 

In addition to the properties that whole numbers have, fractions also have these properties: 

 Inverse Property 

 Identity property 
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There are types of fractions we deal with that include: 

 Proper Fractions (when the numerator is smaller than the denominator) 

 Improper Fractions (when numerator is greater than denominator) 

 Mixed fractions (fractions presented with quotient and remainder) 

Decimals also have their properties that can be useful as a check when doing calculations: 

 When a decimal and a whole number are multiplied, the product remains the same (this 

implies the number of decimal places does not change for e.g. 0.55 x 3 = 1.65) 

 Multiplying a decimal by 1 results in the answer being the decimal itself 

 Multiplying two decimals in any order gives the same result. (0.5 x 1.2 = 1.2 x 0.5) 

 Same principles of BODMAS apply to decimals when in operation 

There are four types of Decimals: 

 Terminating Decimals (decimals that have an end) 

 Non-terminating (a decimal that does not end with a sequence of zeros, pi for example) 

 Recurring Decimals (contains infinitely repeating numbers) 

 Non-Recurring Decimals (it continues endlessly but with no repeating numbers) 

Use of Decimals is in situations where precision is required and rounding off may often distort 

the accuracy of the answer. It is easy to estimate decimal points when dealing with decimals; this 

can be achieved by looking at the decimal places before any problem is solved. 

Revision of Grade 6 work on fractions and decimals is advised to the student to familiarize 

themselves with the work.  
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1.3 Problem Set 1: Fractions 

1.3.1 Addition and Subtraction  

1) 
1

2
+

1

3
=  

𝐴𝑛𝑠:  

𝑆𝑡𝑒𝑝 𝑜𝑛𝑒 𝑖𝑛 𝑠𝑜𝑙𝑣𝑖𝑛𝑔 𝑓𝑟𝑎𝑐𝑡𝑖𝑜𝑛𝑠 𝑖𝑠 𝑡𝑜 ℎ𝑎𝑣𝑒 𝑎 𝑐𝑜𝑚𝑚𝑜𝑛 𝑑𝑒𝑛𝑜𝑚𝑖𝑛𝑎𝑡𝑜𝑟  

𝑐𝑜𝑚𝑚𝑜𝑛 𝑑𝑒𝑛𝑜𝑚𝑖𝑛𝑎𝑡𝑜𝑟 𝑓𝑜𝑟 2 𝑎𝑛𝑑 3 𝑖𝑠 6 (2 × 3) 

ℎ𝑒𝑛𝑐𝑒 𝑡ℎ𝑒 𝑒𝑞𝑢𝑎𝑡𝑖𝑜𝑛 𝑏𝑒𝑐𝑜𝑚𝑒𝑠: 

3

6
+

2

6
=

5

6
  (𝑤ℎ𝑖𝑐ℎ 𝑖𝑠 𝑡ℎ𝑒 𝑎𝑛𝑠𝑤𝑒𝑟) 

 

2)   
1

2
−

1

3
 

𝐴𝑛𝑠:  

𝑆𝑡𝑒𝑝 𝑜𝑛𝑒 𝑖𝑛 𝑠𝑜𝑙𝑣𝑖𝑛𝑔 𝑓𝑟𝑎𝑐𝑡𝑖𝑜𝑛𝑠 𝑖𝑠 𝑡𝑜 ℎ𝑎𝑣𝑒 𝑎 𝑐𝑜𝑚𝑚𝑜𝑛 𝑑𝑒𝑛𝑜𝑚𝑖𝑛𝑎𝑡𝑜𝑟 

𝑐𝑜𝑚𝑚𝑜𝑛 𝑑𝑒𝑛𝑜𝑚𝑖𝑛𝑎𝑡𝑜𝑟 𝑓𝑜𝑟 2 𝑎𝑛𝑑 3 𝑖𝑠 6 (2 × 3) 𝑎𝑛𝑑 𝑐𝑜𝑛𝑣𝑒𝑟𝑠𝑒𝑙𝑡 𝑡ℎ𝑒 𝑛𝑢𝑚𝑒𝑟𝑎𝑡𝑜𝑟 

ℎ𝑒𝑛𝑐𝑒 𝑡ℎ𝑒 𝑒𝑞𝑢𝑎𝑡𝑖𝑜𝑛 𝑏𝑒𝑐𝑜𝑚𝑒𝑠: 
3

6
−

2

6
=

1

6
  

 

3) 𝑆𝑖𝑚𝑝𝑙𝑖𝑓𝑦 𝑡ℎ𝑒 𝑟𝑎𝑡𝑖𝑜 ∶   (𝑓𝑟𝑎𝑐𝑡𝑖𝑜𝑛𝑠 𝑎𝑛𝑑 𝑟𝑎𝑡𝑖𝑜𝑠 𝑎𝑟𝑒 𝑐𝑙𝑜𝑠𝑒𝑙𝑦 𝑐𝑜𝑛𝑛𝑒𝑐𝑡𝑒𝑑) 

22: 33 
𝐴𝑛𝑠: 𝑡𝑜 𝑠𝑖𝑚𝑝𝑙𝑖𝑓𝑦 𝑎 𝑟𝑎𝑡𝑖𝑜 𝑤𝑒 𝑛𝑒𝑒𝑑 𝑡𝑜 𝑝𝑟𝑒𝑠𝑒𝑛𝑡 𝑖𝑡 𝑎𝑠 𝑎 𝑓𝑟𝑎𝑐𝑡𝑖𝑜𝑛 
22

33
= 𝑓𝑖𝑛𝑑 𝑎 𝑐𝑜𝑚𝑚𝑜𝑛 𝑓𝑎𝑐𝑡𝑜𝑟 𝑓𝑜𝑟 𝑏𝑜𝑡ℎ 𝑛𝑢𝑚𝑒𝑟𝑎𝑡𝑜𝑟 𝑎𝑛𝑑 𝑑𝑒𝑛𝑜𝑚𝑖𝑛𝑎𝑡𝑜𝑟 

𝐼𝑛 𝑡ℎ𝑖𝑠 𝑐𝑎𝑠𝑒 𝑡ℎ𝑒 𝑐𝑜𝑚𝑚𝑜𝑛 𝑓𝑎𝑐𝑡𝑜𝑟 𝑖𝑠 11: 

𝑡ℎ𝑖𝑠 𝑟𝑒𝑑𝑢𝑐𝑒𝑠 𝑡𝑜 
2

3
 𝑤ℎ𝑖𝑐ℎ 𝑎𝑠 𝑎 𝑟𝑎𝑡𝑖𝑜 𝑖𝑠 2: 3 

4)  𝑆𝑜𝑙𝑣𝑒 𝑓𝑜𝑟 𝑥: (𝑡ℎ𝑒𝑠𝑒 𝑎𝑟𝑒 𝑝𝑟𝑜𝑏𝑙𝑒𝑚𝑠 𝑤𝑖𝑡ℎ 𝑚𝑖𝑥𝑒𝑑 𝑓𝑟𝑎𝑐𝑡𝑖𝑜𝑛𝑠 𝑎𝑛𝑑 𝑤ℎ𝑜𝑙𝑒 𝑛𝑢𝑚𝑏𝑒𝑟𝑠) 

𝑥 = 3 − 1
2

5
 

𝐴𝑛𝑠: 
𝑇𝑜 𝑠𝑜𝑙𝑣𝑒 𝑡ℎ𝑒 𝑎𝑏𝑜𝑣𝑒, 𝑤𝑒 𝑛𝑒𝑒𝑑 𝑡𝑜 𝑐𝑜𝑛𝑣𝑒𝑟𝑡 𝑏𝑜𝑡ℎ 𝑡ℎ𝑒 𝑤ℎ𝑜𝑙𝑒 𝑛𝑢𝑚𝑏𝑒𝑟 𝑎𝑛𝑑 𝑚𝑖𝑥𝑒𝑑 𝑓𝑟𝑎𝑐𝑡𝑖𝑜𝑛 𝑖𝑛𝑡𝑜 𝑖𝑚𝑝𝑟𝑜𝑝𝑒𝑟 𝑓𝑟𝑎𝑐𝑡𝑖𝑜𝑛𝑠 

𝑆𝑖𝑛𝑐𝑒 𝑡ℎ𝑒 𝑓𝑟𝑎𝑐𝑡𝑖𝑜𝑛 𝑖𝑠 𝑡𝑜 𝑑𝑒𝑛𝑜𝑚𝑖𝑛𝑎𝑡𝑜𝑟 5, 𝑤𝑒 𝑐ℎ𝑎𝑛𝑔𝑒 3 𝑡𝑜 
15

5
 𝑎𝑛𝑑 1

2

5
 𝑡𝑜 

7

5
  

𝑁𝑜𝑤 𝑤𝑒 𝑐𝑎𝑛 𝑎𝑝𝑝𝑙𝑦 𝑎𝑑𝑑𝑖𝑡𝑖𝑜𝑛 𝑎𝑛𝑑 𝑠𝑢𝑏𝑡𝑟𝑎𝑐𝑡𝑖𝑜𝑛 𝑝𝑟𝑜𝑝𝑒𝑟𝑡𝑖𝑒𝑠 
15

5
−

7

5
=  

8

5
 

𝑆𝑎𝑚𝑒 𝑝𝑟𝑖𝑛𝑐𝑖𝑝𝑙𝑒𝑠 𝑎𝑝𝑝𝑙𝑦 𝑤ℎ𝑒𝑛 𝑖𝑡𝑠 𝑎𝑑𝑑𝑖𝑡𝑖𝑜𝑛 𝑜𝑓 𝑎 𝑤ℎ𝑜𝑙𝑒 𝑛𝑢𝑚𝑏𝑒𝑟 𝑎𝑛𝑑 𝑎 𝑓𝑟𝑎𝑐𝑡𝑖𝑜𝑛 
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1.4 Question Bank 1 

𝑆𝑜𝑙𝑣𝑒 𝑡ℎ𝑒 𝑓𝑜𝑙𝑙𝑜𝑤𝑖𝑛𝑔: 

1) 
2

5
−

2

40
               2) 

2

10
+

1

100
−

1

20
          3) 2 − 1

1

4
    

𝐸𝑥𝑝𝑟𝑒𝑠𝑠 𝑎𝑠 𝑑𝑒𝑐𝑖𝑚𝑎𝑙𝑠 𝑖𝑛 𝑡ℎ𝑒𝑖𝑟 𝑙𝑜𝑤𝑒𝑠𝑡 𝑓𝑜𝑟𝑚 

4) 3
4

5
             5𝑎) 

22

7
  𝑒𝑥𝑝𝑟𝑒𝑠𝑠 𝑡𝑜 5 𝑑𝑒𝑐𝑖𝑚𝑎𝑙 𝑝𝑙𝑎𝑐𝑒𝑠     5𝑏)  

11

9
  𝑒𝑥𝑝𝑟𝑒𝑠𝑠 𝑡𝑜 5 𝑑𝑒𝑐𝑖𝑚𝑎𝑙 𝑝𝑙𝑎𝑐𝑒𝑠 

 

𝑺𝒊𝒎𝒑𝒍𝒊𝒇𝒚 𝒕𝒉𝒆 𝒇𝒐𝒍𝒍𝒐𝒘𝒊𝒏𝒈 𝒓𝒂𝒕𝒊𝒐𝒔: 

6) 10: 30: 55 

7) 12: 48: 60 

8) 13: 52: 156  

9) 𝐼𝑛 𝑎 𝑐𝑙𝑎𝑠𝑠 𝑜𝑓 135 𝑠𝑡𝑢𝑑𝑒𝑛𝑡, 𝑡ℎ𝑒𝑟𝑒 𝑎𝑟𝑒 54 𝑏𝑜𝑦𝑠.   

𝐶𝑎𝑙𝑐𝑢𝑙𝑎𝑡𝑒 𝑡ℎ𝑒 𝑟𝑎𝑡𝑖𝑜 𝑜𝑓 𝑏𝑜𝑦𝑠 𝑡𝑜 𝑔𝑖𝑟𝑙𝑠 𝑖𝑛 𝑡ℎ𝑖𝑠 𝑐𝑙𝑎𝑠𝑠 

10) 𝑡ℎ𝑒𝑟𝑒 𝑎𝑟𝑒 3 𝑡𝑦𝑝𝑒𝑠 𝑜𝑓 𝑡𝑟𝑒𝑒𝑠, 𝑡𝑦𝑝𝑒 𝐴 ℎ𝑎𝑠 45 𝑡𝑟𝑒𝑒𝑠. 

𝑖𝑓 𝑡ℎ𝑒 3 𝑡𝑦𝑝𝑒𝑠 𝑎𝑟𝑒 𝑖𝑛 𝑡ℎ𝑖𝑠 𝑟𝑎𝑡𝑖𝑜 𝑜𝑓 3: 4: 5, ℎ𝑜𝑤 𝑚𝑎𝑛𝑦 𝑡𝑦𝑝𝑒 𝐵 𝑎𝑛𝑑 𝐶 𝑡𝑟𝑒𝑒𝑠 𝑎𝑟𝑒 𝑡ℎ𝑒𝑟𝑒? 

11) 𝑊ℎ𝑖𝑙𝑒 𝑎𝑤𝑎𝑘𝑒 𝑃𝑒𝑡𝑒𝑟 𝑠𝑝𝑒𝑛𝑑𝑠 1
1

2
ℎ𝑟𝑠 𝑤𝑎𝑙𝑘𝑖𝑛𝑔,

3

4
ℎ𝑟𝑠 𝑒𝑎𝑡𝑖𝑛𝑔 𝑎𝑛𝑑 3

2

3
ℎ𝑟𝑠 𝑠𝑡𝑢𝑑𝑦𝑖𝑛𝑔. 

𝑤ℎ𝑎𝑡 𝑖𝑠 𝑡ℎ𝑒 𝑡𝑜𝑡𝑎𝑙 𝑎𝑚𝑜𝑢𝑛𝑡 𝑜𝑓 𝑡𝑖𝑚𝑒 𝑃𝑒𝑡𝑒𝑟 𝑠𝑝𝑒𝑛𝑑𝑠 𝑎𝑤𝑎𝑘𝑒 𝑖𝑛 𝑎 𝑑𝑎𝑦? 𝐴𝑛𝑠. 𝑎𝑠 𝑎 𝑚𝑖𝑥𝑒𝑑 𝑓𝑟𝑎𝑐𝑡𝑖𝑜𝑛 

12)  𝑤ℎ𝑎𝑡 𝑖𝑠 𝑥, 𝑖𝑓 𝑥 = (
2

3
+ 1

3

2
− 2 + 2

5

8
) ? 𝑆𝑜𝑙𝑣𝑒 𝑤𝑖𝑡ℎ𝑜𝑢𝑡 𝑎 𝑐𝑎𝑙𝑐𝑢𝑙𝑎𝑡𝑜𝑟 

13) 𝐴𝑟𝑟𝑎𝑛𝑔𝑒 𝑓𝑟𝑜𝑚 𝑏𝑖𝑔𝑔𝑒𝑠𝑡 𝑡𝑜 𝑠𝑚𝑎𝑙𝑙𝑒𝑠𝑡 

2
3

4
; 

15

4
;
3

2
;
18

36
 

14) 𝑓𝑖𝑛𝑑 𝑥 𝑖𝑓; 𝑥 = 1
2

3
−

4

6
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1.5 Problem Set 2: Multiplication and Division of Fractions 

𝑎) 
3

5
×

7

6
=  

𝐴𝑛𝑠: 𝑊ℎ𝑒𝑛 𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑦𝑖𝑛𝑔 𝑓𝑟𝑎𝑐𝑡𝑖𝑜𝑛𝑠, 𝑛𝑢𝑚𝑒𝑟𝑎𝑡𝑜𝑟𝑠 𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑦 𝑒𝑎𝑐ℎ 𝑜𝑡ℎ𝑒𝑟 𝑎𝑠 𝑑𝑜 𝑑𝑒𝑛𝑜𝑚𝑖𝑛𝑎𝑡𝑜𝑟𝑠 

𝐼𝑛 𝑡ℎ𝑒 𝑎𝑏𝑜𝑣𝑒, 𝑖𝑡 𝑏𝑒𝑐𝑜𝑚𝑒𝑠: 
(3 × 7)

(5 × 6
=

21

30
 

𝐼𝑓 𝑡ℎ𝑒 𝑞𝑢𝑒𝑠𝑡𝑖𝑜𝑛 𝑠𝑝𝑒𝑐𝑖𝑓𝑖𝑒𝑠 𝑡𝑜 𝑙𝑒𝑎𝑣𝑒 𝑖𝑛 𝑡ℎ𝑒 𝑙𝑜𝑤𝑒𝑠𝑡 𝑓𝑜𝑟𝑚, 𝑦𝑜𝑢 ℎ𝑎𝑣𝑒 𝑡𝑜 𝑙𝑜𝑜𝑘 𝑓𝑜𝑟 𝐻𝐶𝐹 

𝑜𝑓 𝑏𝑜𝑡ℎ 𝑡ℎ𝑒 𝑛𝑢𝑚𝑒𝑟𝑎𝑡𝑜𝑟 𝑎𝑛𝑑 𝑑𝑒𝑛𝑜𝑚𝑖𝑛𝑎𝑡𝑜𝑟. 𝐼𝑛 𝑡ℎ𝑖𝑠 𝑖𝑛𝑠𝑡𝑎𝑛𝑐𝑒 𝑡ℎ𝑒 𝐻𝐶𝐹 𝑖𝑠 3. 

21

30
=

7

10
 𝑖𝑛 𝑖𝑡𝑠 𝑙𝑜𝑤𝑒𝑠𝑡 𝑓𝑜𝑟𝑚. 

𝑏) 
3

5
÷

7

6
 

𝐴𝑛𝑠: 𝑇ℎ𝑒 𝑓𝑖𝑟𝑠𝑡 𝑠𝑡𝑒𝑝 𝑖𝑛 𝑠𝑜𝑙𝑣𝑖𝑛𝑔 𝑑𝑖𝑣𝑖𝑠𝑖𝑜𝑛 𝑝𝑟𝑜𝑏𝑙𝑒𝑚𝑠 𝑖𝑠 𝑡𝑜 𝑐ℎ𝑎𝑛𝑔𝑒 𝑖𝑡 𝑡𝑜 𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑖𝑐𝑎𝑡𝑖𝑜𝑛 

ℎ𝑜𝑤𝑒𝑣𝑒𝑟 𝑖𝑛 𝑜𝑟𝑑𝑒𝑟 𝑡𝑜 𝑐ℎ𝑎𝑛𝑔𝑒 𝑡ℎ𝑎𝑡, 𝑤𝑒 ℎ𝑎𝑣𝑒 𝑡𝑜 𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑦 𝑡ℎ𝑒 𝑓𝑖𝑟𝑠𝑡 𝑓𝑟𝑎𝑐𝑡𝑖𝑜𝑛 𝑏𝑦 𝑡ℎ𝑒  

𝑟𝑒𝑐𝑖𝑝𝑟𝑜𝑐𝑎𝑙 𝑜𝑓 𝑡ℎ𝑒 𝑠𝑒𝑐𝑜𝑛𝑑 𝑜𝑛𝑒. 𝑖𝑛 𝑡ℎ𝑖𝑠 𝑐𝑎𝑠𝑒 𝑡ℎ𝑒 𝑟𝑒𝑐𝑖𝑝𝑟𝑜𝑐𝑎𝑙 𝑜𝑓 
7

6
 𝑖𝑠 

6

7
 

𝑡ℎ𝑒𝑟𝑒𝑓𝑜𝑟𝑒 𝑖𝑡 𝑏𝑒𝑐𝑜𝑚𝑒𝑠 ∶  
3

5
×

6

7
=

18

35
 𝑤ℎ𝑖𝑐ℎ 𝑖𝑠 𝑡ℎ𝑒 𝑓𝑖𝑛𝑎𝑙 𝑎𝑛𝑠. 𝑠𝑖𝑛𝑐𝑒 𝑡ℎ𝑒𝑟𝑒𝑖𝑠 𝑛𝑜 𝐻𝐶𝐹 

𝑐)  ′𝑜𝑓′ 𝐼𝑛 𝑓𝑟𝑎𝑐𝑡𝑖𝑜𝑛𝑠 𝑜𝑓 𝑐𝑎𝑛 𝑏𝑒 𝑠𝑢𝑏𝑠𝑡𝑖𝑡𝑢𝑡𝑒𝑑 𝑓𝑜𝑟 ×  

𝑎𝑛 𝑒𝑥𝑎𝑚𝑝𝑙𝑒 𝑖𝑠 𝑓𝑖𝑛𝑑 25% 𝑜𝑓 100 

𝐴𝑛𝑠: 𝑡ℎ𝑒 𝑓𝑖𝑟𝑠𝑡 𝑖𝑛𝑠𝑡𝑎𝑛𝑐𝑒 𝑖𝑠 𝑡𝑜 𝑐𝑜𝑛𝑣𝑒𝑟𝑡 𝑡ℎ𝑒 𝑝𝑒𝑟𝑐𝑒𝑛𝑡𝑎𝑔𝑒 𝑖𝑛𝑡𝑜 𝑎 𝑓𝑟𝑎𝑐𝑡𝑖𝑜𝑛 𝑡ℎ𝑒𝑛 𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑦: 

25% =  
25

100
=

1

4
 𝑜𝑓 100 =  

1

4
× 100 = 25. 

𝑑) 5
1

3
×  

3

8
 

𝐴𝑛𝑠: 𝑇𝑜 𝑠𝑜𝑙𝑣𝑒 𝑎 𝑓𝑟𝑎𝑐𝑡𝑖𝑜𝑛 𝑡ℎ𝑎𝑡 𝑖𝑠 𝑚𝑖𝑥𝑒𝑑, 𝑤𝑒 ℎ𝑎𝑣𝑒 𝑡𝑜 𝑐𝑜𝑛𝑣𝑒𝑟𝑡 𝑖𝑡 𝑖𝑛𝑡𝑜 𝑎𝑛 𝑖𝑚𝑝𝑟𝑜𝑝𝑒𝑟 𝑓𝑟𝑎𝑐𝑡𝑖𝑜𝑛 

5
1

3
=  

16

3
; ℎ𝑒𝑛𝑐𝑒 𝑖𝑡 𝑏𝑒𝑐𝑜𝑚𝑒𝑠 

16

3
×

3

8
=  

48

24
= 2 

𝑇ℎ𝑖𝑠 𝑝𝑟𝑖𝑛𝑐𝑖𝑝𝑙𝑒 𝑎𝑙𝑠𝑜 𝑎𝑝𝑝𝑙𝑖𝑒𝑠 𝑤ℎ𝑒 𝑠𝑜𝑙𝑣𝑖𝑛𝑔 𝑓𝑜𝑟 𝑑𝑖𝑣𝑖𝑠𝑖𝑜𝑛 𝑝𝑟𝑜𝑏𝑙𝑒𝑚𝑠 
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1.6 Question Bank 2 

𝑆𝑖𝑚𝑝𝑙𝑖𝑓𝑦 𝑡ℎ𝑒 𝑓𝑜𝑙𝑙𝑜𝑤𝑖𝑛𝑔 ∶ 𝐺𝑖𝑣𝑒 𝐴𝑛𝑠𝑤𝑒𝑟 𝑎𝑠 𝑎 𝑚𝑖𝑥𝑒𝑑 𝑓𝑟𝑎𝑐𝑡𝑖𝑜𝑛 

1𝑎) 
2

3
×  

6

10
+ 2                               1𝑏)  

6

11
×

121

36
 

2𝑎) 3
1

5
÷

8

3
                            2𝑏) 𝑠ℎ𝑜𝑤 𝑡ℎ𝑎𝑡 

7

21
×

1

3
 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙𝑙 𝑡𝑜 0.11111 𝑡𝑜 5 𝑑𝑒𝑐𝑖𝑚𝑎𝑙 𝑝𝑙𝑎𝑐𝑒𝑠 

3𝑎) 16% 𝑜𝑓 120         3𝑏) 45% 𝑜𝑓 100     3𝑐)  11% 𝑜𝑓 121  

4) 𝑓𝑖𝑛𝑑 10%, 15%, 20%  𝑜𝑓 1525. 

5) 
1

4
𝑜𝑓 

1

2
 𝑜𝑓 20 

6) 
2

3
𝑜𝑓 360 

7) 1
2

8
÷ 2

1

7
 

8) 4
1

4
× 2

2

3
÷ 1

1

6
 

9) 2
1

4
÷ 1

2

3
 

10) 11 ÷ 2
2

3
×

1

6
 

11) 
5

6
×

(2 − 2)

5
 

12) 8 ÷
1

2
+ (2 ×

3

8
) 

13) 
7

5
÷

14

10
 

14) 
5

4
× 1

4

5
                     15) 

11

12
÷

2

3
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1.7 Problem Set 3: Decimals 

𝑎) 𝑓𝑖𝑛𝑑 𝑡ℎ𝑒 𝑠𝑜𝑙𝑢𝑡𝑖𝑜𝑛 𝑡𝑜  
0.072

0.012
 

𝐴𝑛𝑠: 𝑇𝑜 𝑠𝑜𝑙𝑣𝑒 𝑓𝑜𝑟 𝑑𝑒𝑐𝑖𝑚𝑎𝑙𝑠, 𝑤𝑖𝑡ℎ𝑜𝑢𝑡 𝑎 𝑐𝑎𝑙𝑐𝑢𝑙𝑎𝑡𝑜𝑟 𝑡ℎ𝑒 𝑓𝑜𝑙𝑙𝑜𝑤𝑖𝑛𝑔 𝑠𝑡𝑒𝑝𝑠 𝑎𝑟𝑒 𝑡𝑎𝑘𝑒𝑛: 

𝑐𝑜𝑛𝑣𝑒𝑟𝑡 𝑏𝑜𝑡ℎ 𝑡ℎ𝑒 𝑛𝑢𝑚𝑒𝑟𝑎𝑡𝑜𝑟 𝑎𝑛𝑑 𝑑𝑒𝑛𝑜𝑚𝑖𝑛𝑎𝑡𝑜𝑟 𝑖𝑛𝑡𝑜 𝑤ℎ𝑜𝑙𝑒 𝑛𝑢𝑚𝑏𝑒𝑟𝑠 

𝑡ℎ𝑖𝑠 𝑖𝑛𝑣𝑜𝑙𝑣𝑒𝑠 𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑦𝑖𝑛𝑔 𝑏𝑜𝑡ℎ 𝑛𝑢𝑚𝑒𝑟𝑎𝑡𝑜𝑟 𝑎𝑛𝑑 𝑑𝑒𝑛𝑜𝑚𝑖𝑛𝑎𝑡𝑜𝑟 𝑏𝑦 1000  

𝑦𝑜𝑢 𝑡ℎ𝑒𝑟𝑒𝑓𝑜𝑟𝑒 ℎ𝑎𝑣𝑒 
0.072 × 1000

0.012 × 1000
=  

72

12
= 6 

𝑡ℎ𝑖𝑠 𝑎𝑙𝑠𝑜 𝑎𝑝𝑝𝑙𝑖𝑒𝑠 𝑒𝑣𝑒𝑛 𝑖𝑓 𝑜𝑛𝑒 𝑜𝑓 𝑡ℎ𝑒 𝑡𝑒𝑟𝑚𝑠 𝑖𝑛 𝑡ℎ𝑒 𝑜𝑛𝑙𝑦 𝑑𝑒𝑐𝑖𝑚𝑎𝑙 

 

𝑏) 2.79 × 7.5 

𝐴𝑛𝑠: 𝑇𝑜 𝑠𝑜𝑙𝑣𝑒 𝑓𝑜𝑟 𝑡ℎ𝑒 𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑖𝑐𝑎𝑡𝑖𝑜𝑛 𝑜𝑓 𝑑𝑒𝑐𝑖𝑚𝑎𝑙𝑠, 𝑓𝑖𝑟𝑠𝑡 𝑝𝑟𝑒𝑡𝑒𝑛𝑑 𝑡ℎ𝑒 𝑐𝑜𝑚𝑚𝑎 𝑖𝑠 𝑛𝑜𝑡 𝑡ℎ𝑒𝑟𝑒 

𝑡ℎ𝑒𝑛 𝑑𝑜 𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑖𝑐𝑎𝑡𝑖𝑜𝑛 𝑎𝑠 𝑖𝑓 𝑡ℎ𝑒𝑦 𝑤𝑒𝑟𝑒 𝑤ℎ𝑜𝑙𝑒 𝑛𝑢𝑚𝑏𝑒𝑟𝑠: 

𝑖𝑡 𝑡ℎ𝑒𝑟𝑒𝑓𝑜𝑟𝑒 𝑏𝑒𝑐𝑜𝑚𝑒𝑠 279 × 75 = 20 925 

𝐴𝑓𝑡𝑒𝑟 𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑖𝑐𝑎𝑡𝑖𝑜𝑛 𝑐𝑜𝑢𝑛𝑡 𝑡ℎ𝑒 𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑑𝑒𝑐𝑖𝑚𝑎𝑙 𝑝𝑙𝑎𝑐𝑒𝑠 𝑓𝑜𝑟 𝑏𝑜𝑡ℎ 𝑛𝑢𝑚𝑏𝑒𝑟𝑠 

2.79 ℎ𝑎𝑠 2 𝑑𝑒𝑐𝑖𝑚𝑎𝑙 𝑝𝑙𝑎𝑐𝑒𝑠 𝑎𝑛𝑑 7.5 ℎ𝑎𝑠 1 𝑑𝑒𝑐𝑖𝑚𝑎𝑙 𝑝𝑙𝑎𝑐𝑒: 

𝑡ℎ𝑒𝑟𝑒𝑓𝑜𝑟 𝑡ℎ𝑒 𝑡𝑜𝑡𝑎𝑙 𝑖𝑠 3 𝑑𝑒𝑐𝑖𝑚𝑎𝑙 𝑝𝑙𝑎𝑐𝑒𝑠. 𝐺𝑜 𝑡𝑜 𝑦𝑜𝑢𝑟 𝑎𝑛𝑠𝑤𝑒𝑟 ∶ 20 925, 𝑎𝑛𝑑 𝑐𝑜𝑢𝑛𝑡 3 𝑑𝑒𝑐𝑖𝑚𝑎𝑙 

𝑝𝑙𝑎𝑐𝑒𝑠 𝑓𝑟𝑜𝑚 𝑡ℎ𝑒 𝑟𝑖𝑔ℎ𝑡 𝑡𝑜 𝑙𝑒𝑓𝑡.  𝑝𝑙𝑎𝑐𝑒 𝑡ℎ𝑒 𝑐𝑜𝑚𝑚𝑎 𝑡ℎ𝑒𝑟𝑒, 𝑖𝑡 𝑏𝑒𝑐𝑜𝑚𝑒𝑠 20.925 𝑦𝑜𝑢𝑟 𝑓𝑖𝑛𝑎𝑙 𝑎𝑛𝑠𝑤𝑒𝑟. 

 

𝑐) 𝑜𝑓: 𝑎𝑠 𝑤𝑖𝑡ℎ 𝑓𝑟𝑎𝑐𝑡𝑖𝑜𝑛𝑠, 𝑜𝑓 𝑚𝑒𝑎𝑛𝑠 𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑦 𝑏𝑦: 

0.25 𝑜𝑓 100 𝑖𝑠 𝑡ℎ𝑒 𝑠𝑎𝑚𝑒 𝑎𝑠 0.25 × 100 = 25. 𝑐ℎ𝑒𝑐𝑘 𝑒𝑥𝑎𝑚𝑝𝑙𝑒 𝑏 𝑓𝑜𝑟 𝑟𝑒𝑓𝑒𝑟𝑒𝑛𝑐𝑒  

 

𝑑) 𝐷𝑒𝑐𝑖𝑚𝑎𝑙 𝑎𝑑𝑑𝑖𝑡𝑖𝑜𝑛 𝑎𝑛𝑑 𝑠𝑢𝑏𝑡𝑟𝑎𝑡𝑖𝑜𝑛 𝑓𝑜𝑙𝑙𝑜𝑤𝑠 𝑡ℎ𝑒 𝑠𝑎𝑚𝑒 𝑟𝑢𝑙𝑒𝑠 𝑎𝑠 𝑤ℎ𝑜𝑙𝑒 𝑛𝑢𝑚𝑏𝑒𝑟𝑠 

𝑡ℎ𝑒 𝑑𝑖𝑓𝑓𝑒𝑟𝑒𝑛𝑐𝑒 𝑖𝑠 𝑡ℎ𝑒 𝑑𝑒𝑐𝑖𝑚𝑎𝑙 𝑝𝑜𝑖𝑛𝑡, 𝑓𝑜𝑟 𝑛𝑢𝑚𝑏𝑒𝑟𝑠 𝑙𝑖𝑘𝑒 2.55 + 1.2; 

𝑡𝑜 𝑠𝑜𝑙𝑣𝑒 𝑡ℎ𝑒𝑚, 𝑚𝑎𝑘𝑒 𝑠𝑢𝑟𝑒 𝑡ℎ𝑒 𝑡𝑤𝑜 𝑛𝑢𝑚𝑏𝑒𝑟𝑠 ℎ𝑎𝑣𝑒 𝑡ℎ𝑒 𝑠𝑎𝑚𝑒 𝑑𝑒𝑐𝑖𝑚𝑎𝑙 𝑝𝑜𝑖𝑛𝑡 

𝑡ℎ𝑒𝑟𝑒𝑓𝑜𝑟𝑒 𝑖𝑡 𝑏𝑒𝑐𝑜𝑚𝑒𝑠 2.55 + 1.20 = 3.75 

𝐷𝑒𝑐𝑖𝑚𝑎𝑙𝑠 𝑐𝑎𝑛 𝑎𝑙𝑠𝑜 𝑏𝑒 𝑢𝑠𝑒𝑑 𝑖𝑛 𝑟𝑎𝑡𝑖𝑜𝑠 𝑤ℎ𝑒𝑛 𝑡ℎ𝑒 𝑟𝑎𝑡𝑖𝑜 𝑖𝑠 𝑛𝑜𝑡 𝑐𝑙𝑒𝑎𝑟𝑙𝑦 𝑑𝑒𝑓𝑖𝑛𝑒𝑑 
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1.8 Question Bank 3 

𝑆𝑜𝑙𝑣𝑒 𝑡ℎ𝑒 𝑓𝑜𝑙𝑙𝑜𝑤𝑖𝑛𝑔 𝑑𝑖𝑣𝑖𝑠𝑖𝑜𝑛 𝑝𝑟𝑜𝑏𝑙𝑒𝑚𝑠, 𝑓𝑖𝑟𝑠𝑡 𝑤𝑖𝑡ℎ𝑜𝑢𝑡 𝑎 𝑐𝑎𝑙𝑐𝑢𝑙𝑎𝑡𝑜𝑟 𝑡ℎ𝑒𝑛 𝑤𝑖𝑡ℎ 𝑎 𝑐𝑎𝑙𝑐𝑢𝑙𝑎𝑡𝑜𝑟 

1) 0.025 ÷ 5 

2) 1.25 ÷ 0.025 

3) 578.7 ÷ 9 

4)0.0001 ÷ 0.25 

5) 2.5 ÷ 0.25 

 

𝑆𝑜𝑙𝑣𝑒 𝑡ℎ𝑒 𝑓𝑜𝑙𝑙𝑜𝑤𝑖𝑛𝑔 𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑖𝑐𝑎𝑡𝑖𝑜𝑛 𝑝𝑟𝑜𝑏𝑙𝑒𝑚𝑠 

6) 0.25 × 1.25 

7) 0.11 × 1.11 

8) 0.018 × 0.3 

9) (0.024 + 0.015) × 2.5 

10) (0.048 ÷ 8) 𝑜𝑓 (0.036 ÷ 6) 

  

𝑎𝑑𝑑𝑖𝑡𝑖𝑜𝑛 𝑎𝑛𝑑 𝑠𝑢𝑏𝑡𝑟𝑎𝑐𝑡𝑖𝑜𝑛 𝑜𝑓 𝑑𝑒𝑐𝑖𝑚𝑎𝑙𝑠 

11) 2.567 + 1.236 − 0.456 

12) 0.0045 − 0.00045 + 0.045 

13) 1.85 − (0.25 𝑜𝑓 1) 

14) 𝑊ℎ𝑎𝑡 𝑖𝑠 𝑡ℎ𝑒 𝐻𝐶𝐹 𝑓𝑜𝑟 0.25 ; 0.5 ; 0.75 

15) 𝑊ℎ𝑎𝑡 𝑖𝑠 𝑡ℎ𝑒 𝐿𝐶𝑀 𝑜𝑓 0.3 ; 0.6 ; 1.5 
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Answers to Question Banks: 

Question Bank 1 

1)
7

2
              2) 

4

25
         3) 

3

4
          4) 3

4

5
  

5𝑎) 3.14286       5𝑏) 1.22222       6) 2: 6: 11 

7) 1: 4: 5        8) 1: 4: 12         9) 2: 3 

10) 𝐴 = 45; 𝐵 = 60; 𝐶 = 75         11) 5
11

12
     12) 2

19

24
      

13) 
18

36
 ;  

3

2
 ; 2

3

4
 ; 

15

4
            14) 1 

Question Bank 2 

1𝑎) 2
2

5
    1𝑏) 1

5

6
        2𝑎) 1

1

5
     2𝑏) 

1

9
= 0.11111 

3𝑎) 19
1

5
         3𝑏) 45        3𝑐) 13

31

100
  

4𝑎) 152
1

2
        4𝑏)  228

3

4
        4𝑐) 305 

5) 2
1

2
           6) 240         7)

7

12
           8) 9

5

7
 

9) 1
7

20
        10) 

11

16
        11)  

1

6
        

12) 16
3

4
        13) 1       14) 2

1

4
        15)  1

3

8
 

 Question Bank 3 

1) 0.005          2) 50           3) 64.3 

4) 0.0004        5) 10         6) 0.3125 

7) 0.1221       8) 0.0054      9) 0.0975   
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10) 0.000036          11) 3.347           12) 0.04905 

13) 1.6             14) 0.25        15)  3.0 

Self-Assessment for the Student 

Please complete the following: 

After this chapter, can you: 

 Yes No I need more 

practice 

Solve problems of addition and subtraction of 

fractions 

   

Solve problems of multiplication and division 

of fractions 

   

Solve problems of addition and subtraction of 

decimals 

   

Solve problems of multiplication and division 

of decimals 

   

Has my skill of solving fractions and decimals 

improved 

   

 

 

 

E   N   D 

 

 


